
                                                          mod. N/400

GASKET

Article No. Material COLOR Temperature

96220 NBR WHITE RAL 9016 -30°/110°C

96221 EPDM GREY RAL7040 -15°/ 90°C

96225 SILICONE CLEAR WHITE -50°/200°C

96226 FKM BLACK RAL 9017 -10°/ 250°C

4

2

1

5
11

12

9
6

7

10

8

3

14

13

15

16

17

Item Article No. Description Q.ty

1 7TA7000 FRAME 1

2 7CA15800 COVER 1

3 9622 GASKET G/ NL250 1

4 71039 ARM 1

5 81032 SUPPORT 1

6 95012 SCREW M10X30 2

7 95013 SCREW M10X35 1

8 95206 SELF-BLOCKING NUT M10 3

9 95006 SCREW M8X20 1

10 95203 SELF-BLOCKING NUT M8 1

11 91025 SPINDLE M10 L=120 1

12 94160 HANDLE MEC/60 BLUE M10 1

13 97056 WASHER BRASS 1

14 97003 WASHER Ø10X20 2

15 97058 WASHER Ø25XØ10,5 SP4,5 2

16 97307 BLUE CAP 1

17 97316 STIKER LOGO 1

8

6 8

28

11
,5


